R EN /IR FIR4%

PFA/IO

SH4RR

Part Number

3100010040070006
3100010040070008
3100010040070010
3100010040070012
3100010040070016
3100010040070020
3100010040070025
3100010040070030
3100010040070040
3100010050080006
3100010050080008
3100010050080010
3100010050080012
3100010050080016
3100010050080020
3100010050080025
3100010050080030
3100010050080035
3100010050080040
3100010060100006
3100010060100008
3100010060100010
3100010060100012
3100010060100016
3100010060100020
3100010060100025
3100010060100030
3100010060100035
3100010060100040
3100010080125010
3100010080125012

&
M

M4 x6

M4x8

M4x10
M4x12
M4x16
M4x20
M4x25
M4x30
M4 x40
M5x6

M5x8

M5x10
M5x12
M5x16
M5x20
M5x25
M5x30
M5x35
M5x40
M6x6

M6x8

M6x10
M6x12
M6x16
M6x20
M6x25
M6x30
M6x35
M6x40
M8x10
M8x12

Size (mm)
DK K
8.22 2.7
8.22 2.7
8.22 2.7
8.22 2.7
8.22 2.7
8.22 2.7
8.22 2.7
8.22 2.7
8.22 2.7
9.12 2.7
9.12 2.7
9.12 2.7
9.12 2.7
9.12 2.7
9.12 2.7
9.12 2.7
9.12 2.7
9.12 2.7
9.12 27
11.09 2.7
11.09 2.7
11.09 2.7
11.09 33
11.09 33
11.09 33
11.09 33
11.09 33
11.09 33
11.09 33
15.59 4.65
15.59 4.65

BRI
Part Number

3100010080125016
3100010080125020
3100010080125025
3100010080125030
3100010080125035
3100010080125040
3100010080125045
3100010080125050
3100010080125055
3100010080125060
3100010100150010
3100010100150020
3100010100150025
3100010100150030
3100010100150035
3100010100150040
3100010100150045
3100010100150050
3100010100150055
3100010100150060

hR#EFRA BIENTR

Mt
M

M8x16
M8x20
M8x 25
M8x30
M8x35
M8x40
M8x45
M8x50
M8x55
M8x 60
M10x10
M10x20
M10x25
M10x30
M10x35
M10x40
M10x45
M10x50
M10x55
M10x60

L

Size (mm)
DK K
15.59 4.65
15.59 4.65
15.59 4.65
15.59 4.65
15.59 4.65
15.59 4.65
15.59 4.65
15.59 4.65
15.59 4.65
15.59 4.65
18.04 5
18.04 5
18.04 5
18.04 5
18.04 5
18.04 5
18.04 5
18.04 5
18.04 5
18.04 5



	Sheet2

